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—EXNSXtz 84931 +51,282m 43,539
—oig2te| | Xt 570,000 402 22,800
2 S5=24g4l 11,440 16,440 /5,000
O8&88= 1,440
—&IIAl 100,000& * 12 1,200
— &= 20,0002+ 122 240
OAlZ EHIs Xl 10,000
-2 & AME=E RX2
10,000,000 *13] 10,000
206 M=l 48,200 38,200 10,000
01 MZH| 48,200 38,200 10,000
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OZRUAEX] JIZHHl 224 e1FY 70,450
—Jl2=s 78,8803 x 165 x4 52,061
—Fx==g 78,8802 x36 2 x4 11,044
— ¢ x==g 78,880 x7 24 2,209
— 2| 3,0002 x165 2 x4 1,980
—=25< 78,8803 102 4H 3,156
OZ=FE & dxjae| LAIAS 4,733
—228 IJARYS
78,8803 x5 x4 H+33] 4,733
201 eer23y| 26,480 31,760 N\5,280
01 AtR2t2lHI 13,600 18,880 Ab,280
Odgt==H| 13,600
—Z0I3tE AEX ¢4
8,000 x200H 1,600
-3z 24 & X &Y
4,000,000& *32 12,000
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= 6,500
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Al 66,500
01 TR ESFSHI 190,000 0 190,000
OJlERE E352400 2 BHel Z
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< 123,500
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HH2LZH(DlH=S ) 269,483 258,301 11,182
el 2| 199,439 188,257 11,182
el 2d| 199,439 140,989 58,450
101 21AH| 198,439 140,589 57,850
03 SRA(RIH )22+ 198,439 140,589 57,850
OELAFAULZERRA(1458) 49,259
—JlEs 2,768,850« 18~ 12& 33,227
—HEIII 1,661,3102 %23 3,323
—HRdd+E 150,0002«1&+12& 1,800
—g=E2d8+E 60,0202 x 18 * 12 2
— L2 A 99,6802+ 12 1,197
SRR
18,6902 x1Z*30A[ 2+ 123 6,729
—Qlalag 50,0002 * 122 600
—=25=4 1,661,310& %12 1,662
ODMEHLHE 2 BEARV(2ES) 57,006
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—IELe 20,0002 128 x2H 480
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